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GENERAL INFORMATION

THIS DIAGNOSTIC IS A RAM-BASED VERSION ?F "'CIKXAAQ"' AND IS
INTENDED FOR FIELD SUPPORT OF THE KXT=11 SBC (MB063-AA).

ABSTRACT

THE KXT11=AA IS A T11 aAsso SINGLE BOARD COMPUTER (SBC=11).

IT INCLUDES A T11 CPU, 2KW RAM socxsts FOR OPTIONAL ROM

wo 8 BIT SERIAL 170 PORTS IT PARALLEL I/0 Pém
THIS PROGRAM IS AN Assomném OF 14.7 (OCTAL) TESTS ossmuso T0

VERIFY THE INTEGRITY AND OPERABILITY OF THOSE COMPONENTS

THE PROGRAM RESIDES IN Q-BUS RAM AND EXERCiSES THE VARIOUS
LOGICAL SEGMENTS OF THE SBC BOARD IN THE FOLLOWING SEQUENCE:

T11 CPU INSTRUCTION TESTS.

T11 CPU TRAPS AND INTERRUPTS TESTS.
LOCAL 2KW RAM TESTS.

LOCAL 1KW ROM ADDRESS TEST.

SERIAL LINE 1 TESTS.

SERIAL LINE 2 TESTS.

PARALLEL 1/0 PORT TESTS.

THIS PROGRAM IS DESIGNED TO RUN UNDER THE XXDP+ MONITOR.
IT DOES NOT REQUIRE THE SERVICES OF THE DIAGNOSTIC SUPERV
ALL TERMINAL 1/0 (EROR REPORTS ETC. ) ARE HANDLED BY DIRE
CALLS (EMT'S) TO THE MONITOR.

ARARAAAARAAAAAAARAAARRAARAAAAARARAARAAAAAAAAAACAAAAARA O TS

*x+ THIS PROGRAM IS NOT ACT/APT COMPATABLE, HOWEVER we+
xex [T IS CHAINABLE DIRECTLY UNDER THE XXDP+ MONITOR e+

1222222223221 233222222 d ittt ddiddididdddatdddy)
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HARDWARE REQUIRED

KXT11-AA (M8063-AA) MODULE UNDER TEST, WITH 1KW MACRO-ODT ROM,
KXT11=LP (H3275) DUAL LOOP-BACK comecroa.

16KW (OR MORE) Q-BUS MEMORY (MSV11-=D
XXDP+ LOAD DEVICE AND nem (axm axoz. OR TUSS).
CONSOLE TERMINAL (VTS2, V7100, ETC...).

Q-BUS EXERCISER (652815 MODULE (omow\u
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RELATED DOCUMENT: AND STANDARDS

KXT11=AA ENG"EE

NG_SPEC
XXDP+ DIAGNOSTI S

TEM USERS GUIDE.
Y

OPERATING PROCEDURE

I
SY

THE PROGRAM IS LOADED AND STARTED USING STANDARD XXDP+ LOAD
PROCEDURES. THE START/RESTART ADDRESS IS 200.

DEFAULT PROGRAM PARAMETERS

1

THE PROGRAM REQUIRES THAT THE KXT=11 BE CONFIGURED AS FOLLOWS:

START ADDRESS 172000 (POWER=UP START)

RESTART ADDRESS 172004 (TIME=-OUT RESTART)

LOCAL ROM ADDRESS/SIZE 170000 1KkW (MACRO=0DT)

LOCAL RAM ADDRESS/SIZE 160010 2KW-4

BEVNT VECTOR 000100 PRI6

BHALT VECTOR 140 PRI7 (MASKABLE)

SERIAL LINE 1 ADDRESS 177560 (CONSOLE TERMINAL)
RCVR VECT oa 020060 PRI&
XMTR VECTOR 000064 PRI&

SERIAL LINE 2 ADDRESS 176540 (WITH LOOP-BACK...)
RCVR VECTOR 000150 PRIS (...CLOCK DISABLED)
XMTR_VECTOR 000124 PRIS

PARALLEL PORT ADDRESS 176200 (MODE 1, A IN, B OUT...)
OUTPUT (B) VECTOR 000130 PRIS (...WITH LOOP=BACK)
INPUT (A) VECTOR 000134 PRIS

Q-BUS RAM ADDRESS/SIZE 000000 16Kw (XXDP+ MINIMUM)

Q-BUS EXERCISER CSR1 174020 (OPTIONAL)

RUN TIME OPTIONS

THE FOLLOWING SOFT SWITCH-REGISTER OPTIONS ARE SUPPORTED:

SWR<15> 100000 HALT ON ERROR.

SWR<13> 020000 INHIBIT ERROR MESSAGES.

SWR<12> 80 PRINT ERROR SUMMARY AT END-PASS.
SWR<09> LOOP ON ERROR.

SWR<02:00> N RUN SEGMENT N (1 = 7) ONLY.

THE PROGRAM WILL ASK FOR AN INITIAL SWITCH SETTING AT START
OR RESTART TIME. THEREAFTER, YOU MAY REQUEST A CHANGE BY
TYPING CONTROL G <*G>.
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4.0

6.1

PERFORMANCE AND PROGRESS REPORTS

THE PROGRAM REQUIRES ABOUT 6 SECONDS PER PASS, AND WILL REPORT
THE END OF EACH PASS ON THE CONSOLE TERMINAL, INCLUDING A TOTAL
(CUMULATIVE) ERROR COUNT. AN OPTIONAL ERROR SUMMARY MAY BE
INCLUDED IF ENABLED VIA SWR<12>.

ERROR REPORTING AND RECOVERY

BY DEFAULT, THE PROGRAM WILL REPORT AND LOG ALL ERRORS AS THEY
OCCUR AND PROCEED (FOREVER OR UNTIL THE OPERATOR INTERVENES).

ALTERNATE ACTION AND/OR RECOVERY MAY BE SELECTED VIA THE SOFT
SWITCH REGISTER AS DESCRIBED IN 2.2 ABOVE.

DYNAMIC ERROR LOGGING

THE ERROR LOGGING FACILITY PROVIDES FOR THE ACCUMULATION
OF ERROR STATISTICS OVER AN EXTENDED PERIOD OF TIME.
ALL ERRORS ARE LOGGED, WHETHER REPORTED OR NOT.

THE ERROR DATA IS ACCUMULATED IN Q-BUS SCRATCH RAM STARTING AT
LOCATION 004000, IN THE FOLLOWING FORMAT:

004000  XXXXXX ; TOTAL ERROR COUNT.

004002 YYYYYY : TOTAL PASS COUNT.

004006 222222 : CONSECUTIVE ERROR-FREE PASS COUNT.
006 PCPCPC ; 1ST ERROR PC...

004010 - N :...AND NUMBER OF OCCURANCES.

004012 PCPCPﬁ : 2ND...

004014
33 2...AND ROOM FOR A TOTAL OF 510.

007776 177777 : TABLE TERMINATOR.

AN ERROR SUMMARY RFEPORT MAY BE ENABLED VIA THE SWITCH REGISTER
SWR<12> AS DESCRIBED IN 2.2 ABOVE.

SEQ 0004
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5.1

5.2

5.3

5.4

HARDWARE TEST DESCRIPTION

TH1S SECTION PROVIDES A BRIEF DESCRIPTION OF THE FUNCTIONALITY
OF EACH OF THE SEVEN MAJOR PROGRAM SEGMENTS.
REFER TO THE PROGRAM LISTING (6.0) FOR FURTHER DETAILS.

SEGMENT 1 == T11 CPU BASIC INSTRUCTION TESTS.

VERIFY THAT Ti1 CAN EXECUTE ALL INSTRUCTIONS (EXCEPT 'WAIT'' AND
"HALT'") IN ALL ADDRESS MODES. ALSO CHECKS FOR EXPECTED SIDE
EFFECTS (CC BITS, AUTO-INCR/DECR, ETC...).

SEGMENT 2 == T11 CPU TRAPS AND INTERRUPTS TEST.

VERIFY THAT SOFTWARE TRAPS AND INTERRUPTS EXECUTE CORRECTLY,
AND THAT PROPER STACK POINTER AND PSW CONTEXT IS MAINTAINED.

IF A Q-BUS EXERCISOR MODULE IS INSTALLED (AT 174020) POWER-FAIL,
BEVNT, AND Q-BUS INTERRUPTS WILL ALSO BE TESTED HERE.

SEGMENT 3 == LOCAL 2KW RAM TESTS.

VERIFY READ/WRITE ACCESS TO THE ON-BOARD 2KW RAM USING VARIOUS
ADDRESS AND DATA PATTERNS. IF A Q-BUS-EXERCISER MODULE IS
INSTALLED (AT 174020), TEST READ/WRITE DMA ACCESS AS WELL.

NOTE: MACRO-ODT UTILIZES A PORTION OF THE LOCAL RAM.

IF A BREAK-AND-PROCEED SEQUENCE IS SERVICED DURING THIS SEGMENT
ERRORS MAY OCCUR IF/WHEN RAM BACKGROUND DATA PATTERNS ARE
DESTROYED (BY ODT ITSELF).

SEGMENT & == LOCAL 1KW ROM ADDRESS TEST.

VERIFY THAT THE ROM ADDRESS SPACE IS CORRECTLY_ CONFIGURED.
THIS IS AN ADDRESS RESPONSE TEST ONLY. ROM DATA VERIFICATION
IS NOT ATTEMPTED.
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5.5

5.6

5.7

S.a

6.0

1
SECTION 5 == SERIAL LINE 1 TESTS (DEC DC319 DLART).

VERIFY THAT THE ‘‘CONSOLE'' SERIAL 1/0 PORT FUNCTIONS CORRECTLY,

INCLUDING THE DETECTION OF F%NG AND OVERRUN ERRORS, AND THAT

INTERRUPTS OCCUR THRU VECTORS AND 64 AT PRIORITY &,
VERIFY THAT THE PROGRAMMABLE BAUD-RATE FEATURE WORKS CORRECTLY.
\TIE’&‘I’F;EF’!&!’ ;%EAK" INVOKES A MASKABLE LEVEL 7 HALT INTERRUPT

SECTION 6 == SERIAL LINE 2 TESTS (DEC DC319 DLART).

SAME AS SECTION 5 WITH THE FOLLOWING EXCEPTIONS:
1. °'BREAK' DOES NOT INVOKE A HALT RSOUESI'.
2. INTERRUPTS VECTOR THRU 120 AND 124 AT PRIORITY 5.

NOTE: THIS SEGMENT REQUIRES THAT THE SERIAL LOOP-BACK SWITCH

ON THE DUAL LOOP-BACK CARD BE CORRECTLY SET TO THE “LOOP"
POSITION.

SECTION 7 == PARALLEL I/0 PORT TESTS (INTEL 8255A).

VERIFY THAT THE PARALLEL 1/0 PORT FUNCTIONS CORRECTLY.
CHECK THAT DATA CAN BE TRANSMITTED FROM PORT B, THRU THE
PARALLEL LOOP-BACK CONNECTOR, AND RECEIVED IN PORT A.
CHECK THAT INTERRUPTS OCCUR THRU VECTORS 130 (PORT B) AND
134 (PORT A) AT PRIORITY 5.

NOTE: THE RED LED ON THE TOP EDGE OF THE KXT-11 BOARD SHOULD

LIGHT AT THE BEGINNING OF THIS SEGMENT, AND REMAIN ON FOR
ABOUT 1 SECOND.

END PASS

AT THIS POINT AND END-PASS MESSAGE (AND OPTIONAL ERROR SUMMARY)
WILL BE PRINTED ON THE CONSOLE TERMINAL.

PROGRAM LISTING.

THE PROGRAM LISTING FOLLOWS:

NOTE THAT THE TABLE OF CONTENTS INCLUDES A SEQUENTIAL LIST OF
ALL ERROR HALTS AND AN INDICATION OF THE NATURE OF .THE ERROR
ENCOUNTERED AT THAT LOCATION.
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CNKXAA == KXT=11 (FALCON) VSRIFICATI(N TESTS (FIELD VERSION). -
4:02 TABLE OF

CNKXAA.P11 17-MAR 1 CONTENTS
e

20 SWITCH REGISTER OPTIONS

97 KXT=11 (FALCON) DEFAULT CONFIGURATION
%93% INITIAL START AND CLEAR VECTORS. .
239 RESTART
552 QUICK=-VERIFY SHT AND TRAP.

75 PC 10204 = EMT OR_TRAP OPCODE (IN RO) FAILED.
%&4 PC 10216 = RTI AFTER EMT OR TRAP FAILED.
306 SECTION 1 == T11 BASIC INSTRUCTION TESTS.

M il = BRAN?ES. FORWARD, BACKWARD, AND CONDITIONAL

314 PC 10% & = FORMARD BRANCH FAILED.

318 PC 10370 = BACKWARD BRANCH FAILED.
334 PC 10430 = BRANCH FAILURE OR CC NOT 0000.

345 PC 10658 = BRANCH FAILURE OR CC NOT 1000.
358 PC 10510 = wﬂl FAILURE OR CC NOT 1010.
370 PC 10540 =" CH FAILURE OR CC NOT 1011.
384 PC 10574 = BRANCH FAILURE OR CC NOT 1111.
387 T2 == SET AND CLEAR ALL CONDITION CODES
390 PC 10610 = CC BITS WRONG AFTER SCC.

394 PC 10620 = CC BITS WRONG AFTER CCC.
396 T3 == TEST REGISTER SELECTION

&1 PC 10702 = REGISTER SELECTION FAILURE.
414 T4 == JMP_INSTRUCTION == MODE 1

418 PC 10722 = MODE 1 JUMP FAILED.

420 PC 10730 = CC BITS ALTERED ON JMP.
423 PC 10742 = RO_INC CT AFTER JUMP,
£,26 TS == JMP_INSTRUCTION == MODES 2 AND

430 PC 10762 = MODE 2 JUMP FAILED.

432 PC 10770 = CC BITS ALTERED AFTER JMP.
435 PC 11003 = MODE 2 FAILED ON JUMP.
442 PC 11032 = MODE 3 JUMP FAILED.

445 PC 11046 = MODE 3 JUMP FAILED.

448 T6 == JMP INSTRUCTION -- MODES &

452 PC 11066 = DIDN'T JUMP AT ALL.

454 PC 11074 = MODE & JUMP FAILED..

457 PC 11192 = RO INCORRECT AFTER JUMP.
463 PC 11134 = MODE 5 JUMP DIDN'T,

464 PC 11140 = AUTO-DECR FAILED ON MODE 5 JUMP.
467 PC 11152 = RO_INCORRECT AFTER JMPS.
470 T7 == JWP ;NSTRUCTIW == MODES 6 AND 7
473 PC 11172 = gi 6 JUMP FAILED,

476 PC 11204 = WRONG AFTER JMP6.

478 PC 11214 = JUMP FAILED.

68% PC 11230 = JUMP FAILED.

48 PC 11250 = MODE 7 JUMP FAILED.

N PC 11270 = JUMP FAILED.

495 PC 11312 = MODE 7 JUMP FAILED..

498 T10 == JSR_AND RTS INSTRUCTIONS

502 PC 11334 = JSR_INSTRUCTION FAILED.

504 PC 11342 = CC BITS CHANGED ON JSR.

507 -~ PC 11354 = STACK WRONG AFTER JSR.

-310 “PC 11 = SP DID NOT HAVE CORRECT RETURN ADDRESS.

514 PC 11400 = RTS INSTRUCTION FAJLED.

g% PC 11412 = SP WAS NOT RESTORED BY RTS INSTRUCTION.

MACY11 306(1063)

17-MAR-82 14:03
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PC 12476 = INCORRECT CC BITS.
PC 12514 = INCORRECT CC BITS.
PC 12526 = ASRB FAILED.

120 == Aogs AND SB(CB
PC 12546 = INCORRECT CC BITS.
PC 12564 = INCORRECT CC BITS.
PC 12576 = ADCB INSTRUCTION FAILED.
PC 12614 = INCORRECT CC BITS.
PC 12626 = ADCB INSTRUCTION FAILED.
PC 12644 = INCORRECT CC BITS.
PC 12662 = INCORRECT CC BITS.
PC 12674 = SBCB INSTRUCTION FAILED.
PC 12712 = INCORRECT CC BITS.
PC 127;2 = SBCB INSTRUCTION FAILED.
PC 12736 = INCORRECT CC BITS.
PC 12750 = INCORRECT CC BITS.
PC 1§762 = SBCB INSTRUCTION FAILED.
PC 13000 = INCORRECT CC BITS.

721 == TST, CLR, AND MOV
PC 12076 = INCORRECT CC BITS.
PC 13026 = INCORRECT CC BITS.
PC 1304% = INCORRECT CC BITS.
PC 13052 = INCORRECT CC BITS.
PC 13062 = R1 WRONG AFTER MOV.
PC 13074 = INCORRECT CC BITS.

T22 == CMP AND BIS
PC 13116 = INCORRECT CC BITS.
PC 13126 = BIS OR CMP INSTRUCTION FAILED.
PC 13140 = CMP INSTRUCTION FAILED (WRONG CC).
PC 13152 = BIC OR CMP FAILED.

123 == agc AND BiT
PC 13204 = INCORRECT CC BITS.
PC 13214 = BIC OR BIT INSTRUCTION FAILED.
PC 13226 = INCORRECT CC BITS.
PC 1;240 = BIT OR BIS INSTRUCTION FAILED.
PC 13252 = INCORRECT CC BITS.
PC 13566 = INCORRECT CC BITS.
PC 13300 = INCORRECT CC BITS.
PC 13310 = BIC FAILED.

124 == xns AND DEC
PC 13332 = INCORRECT CC BITS.
PC 13346 = INCORRECT CC BITS.
PC 13356 = INCORRECT CC BITS.
PC 1 = INCORRECT CC BITS.
PC 1 = INC INSTRUCTION FAILED.
PC 13412 = INCORRECT LC BITS.
PC 1 §6 = INCORRECT CC BITS.
PC 1 = INCORRECT CC BITS.
PC 13446 = INCORRECT CC BITS.

T25 == COM AND NEG
PC 1 7g = INCORRECT CC BITS.
PC 13502 = COM INSTRUCTION FAILED.
PC 13514 = INCORRECT CC BITS
PC 13526 = COM INSTRUCTION FAILED
PC 13544 = INCORRECT CC BITS.
PC 13560 = INCORRECT CC BITS.

(FIELD VERSION).

MACY11 306(1063)

17-MAR-82 14:03

SEQ 0009




CNKXAA == KXT=11 (FALS?‘) VSRIFICATIM TESTS (FIELD VERSION). MACY11 306(1063) 17-MAR-82 14:03
CNKXAA.P11 17-MAR-82 14:02 TABLE OF CONTENTS SEQ 0010

933 PC 13572 = NEG INSTRUCTION FAILED.
937 PC 13606 = INCORRECT CC BITS.

940 PC 13620 = NEG FAILED.

943 126 == AND ROR

949 PC 1 = INCORRECT CC BITS.

95 PC 13656 = ROL INSTRUCTION FAILED.
95 PC 1 = INCORRECT CC BITS.

959 PC 13702 = ROL FAILED.

967 PC 1 7;6 = ROR INSTRUCTION FAILED.
970 PC 13736 = INCORRECT CC BITS.

973 PC 1-?28 = INCORRECT CC BITS.

976 PC 13760 = ROR FAILED.

979 T27 == ASL AND ASR

985 PC 14004 = INCORRECT CC BITS.

988 PC 14016 = ASL INSTRUCTION FAILED.
991 PC 14026 = INCORRECT CC BITS.

994 PC 14036 = INCORRECT CC BITS.
1002 PC 14092 = ASR INSTRUCTION FAILED.
1005 PC 140 g = INCORRECT CC BITS.
1008 PC 14102 = INCORRECT CC BITS.
1013 PC 14120 = INCORRECT CC BITS.
1016 PC 14132 = ASR FAILED.
1019 T30 == ADC AND SBC
1024 PC 14152 = INCORRECT CC BITS.
1030 PC 14170 = INCORRECT CC BITS.
1033 PC 14202 = ADC INSTRUCTION FAILED.
1038 PC 14220 = INCORRECT CC BITS.
1041 PC 14232 = ADC INSTRUCTION FAILED.
1046 PC 14250 = INCORRECT CC BITS.

105 PC 1‘%33 = INCORRECT CC BITS.
105 PC 14300 = SBC INSTRUCTION FAILED.
1061 PC 14316 = INCORRECT CC BITS.
1064 PC 14330 = SBC INSTRUCTION FAILED.
1068 PC 14342 = INCORRECT CC BITS.

1072 PC 14354 = INCORRECT CC BITS.
1075 PC 14366 = SBC INSTRUCTION FAILED.
1080 PC 14404 = INCORRECT CC BITS.
1082 T31 == SXT, SWAB AND XOR
1088 PC 144§2 = INCORRECT CC BITS.

1091 PC 14436 = SXT INSTRUCTION FAILED.
1095 PC 14450 = INCORRECT CC BITS.

1098 PC 1“85 = SXT FAILED.
1105 PC 14502 = INCORRECT CC BITS.
1108 PC 14514 = SWAB INSTRUCTION FAILED.
1114 PC 14534 = INCORRECT CC BITS.
1117 PC 14546 = SWAB FAILED.
1124 PC 14573 = INCORRECT CC BITS.
1131 PC 14612 = INCORRECT CC BITS.

1137 PC 14634 = INCORRECT CC BITS.

1140 FC 14646 = XOR FAILED.
1143 732 -- ADD AND SUB
1147 PC 14983 = INCORRECT CC BITS.

1150 PC 14700 = ADD INSTRUCTION FAILED.
1154 PC 14714 = INCORRECT CC BITS.

1157 PC 14723 = ADD INSTRUCTION FAILED.
1161 PC 14742 = INCORRECT CC BITS.
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1166 PC 14762 = ADD INSTRUCTION FAILED.
1Mn PC 15000 = ADD FAILED.
177 PC 1505 = INCORRECT CC BITS.
1180 PC 15032 = SUB INSTRUCTION FAILED.
1185 PC 15050 = SUB NSTRUCTION FAILED.
1190 PC 15070 = INCORRECT CC BITS.
1193 PC 15102 = SUB INSTRUCTION FAILED.
1197 PC 15116 = INCORRECT CC BITS.
1199 733 == MTPS AND MFPS
1204 PC 15140 = INCORRECT CC BITS.
1207 PC 15150 = MTPS OR MFPS INSTRUCTION FAILED.
1209 PC 15156 = INCORRECT CC BITS.
1213 PC 15172 = INCORRECT CC BITS.
1216 PC 15202 = INCORRECT CC BITS.
}553 PC 15214 = MTPS OR MFPS INSTRUCTION FAILED.
1223 NON-ZERO ADDRESS MODES
12§s —= TEST MODES O AND 1 USING MOVB AND MOV
1231 PC 15242 = MOVB INSTRUCTION FAILED IN MODE 0.
1237 PC 15264 = MOV INSTRUCTION FAILED IN MODE 0.
1248 PC 15330 = MOV INSTRUCTION FAILED IN MODE 1.
1254 PC 15354 = MOV INSTRUCTION FAILED IN MODE 1.
1257 T35 == TEST MODE 2 USING MOVB AND MOV
1272 PC 15436 = INSTRUCTIONS FAILED IN MODE 2.
1284 PC 15476 = INSTRUCTIONS FAILED IN MODE 2.
1287 136 == TEST MODE 3 USING MOVB AND MOV
1302 PC 15600 = INSTRUCTIONS FAILED IN MODE g.
1315 PC 15654 = INSTRUCTIONS FAILED IN MODE 3.
1318 137 =~ TEST MODE & USING MOVB AND MOV
1326 PC 15714 = INSTRUCTIONS FAILED IN MODE &.
133 PC 15750 = INSTRUCTIONS FAILED IN MODE &.
1324 PC 15776 = INSTRUCTIONS FAILED IN MODE 4.
1753 PC 16032 = INSTRUCTIONS FAILED IN MODE &.
13,8 PC 16102 = INSTRUCTICNS FAILED IN MODE 4.
1371 T40 == TEST MODE 5 USING MOVB AND MOV
. 388 PC 16200 = INSTRUCTION FAILED IN MODE 5.
1395 PC 16226 = INSTRUCTIONS FAILED IN MODE 5.
1413 PC 16312 = INSTRUCTIONS FAILED IN MODE 5.
1416 T41 == TEST MODE 6 USING MOVB AND MOV
1429 PC 16412 = INSTRUCTIONS FAILED IN MODE 6.
1436 PC 16446 = INSTRUCTIONS FAILED IN MODE 6.
1439 742 -- TEST MODE 7 USING MOVB AND MOV
1451 PC 16544 = MODE 7 1S FAILING.
1456 PC 16574 = INSTRUCTIONS FAILED IN MODE 7.
1459 143 -- TSTB, CLRB, AND MOVB
1465 . PC 166;5 = INCORRECT CC BITS.
1468 PC 16632 = INCORRECT CC BITS.
1471 PC 16644 = INCORRECT CC BITS.
1474 PC 16?54 = INCORRECT CC BITS.
1480 PC 16 os = MOVB INSTRUCTION FAILED.
1483 PC 16712 = MOVB INSTRUCTION FAILED.
1485 T4h == CMPB BISB
1493 PC 16746 = INCORRECT CC BITS.
1496 PC 16756 = BISB OR CMPB INSTRUCTION FAILED.,
1499 P( 16796 = CMPB INSTRUCTION FAILED (WRONG CC).
1502 PC 16776 = INSTR FAILED.
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CNKXAA == KXT=11 (FALCON) VERIFICATION TESTS (FIELD VERSION). MACY11 306(1063) 17-MAR-82 14:03

CNKXAA.P11  17-MAR-82 14:02 TABLE OF CONTENTS SEQ 0013
174 PC 20242 = ADCB INSTRUCTION FAILED.
17 PC 8 = INCORRECT CC BITS.

175 PC = INCORRECT CC BITS.
1758 P( 3 ; = SBCB INSTRUCTION FAILED
764 PC 2 = INCORRECT CC BITS.
;97 PC 20344 = SBCB INSTRUCTION FAILED
1 PC 20 53 = INCORRECT CC BITS.
775 PC 20370 = INCORRECT CC BITS.
778 PC 0408 = SBCB INSTRUCTION FAILED.
783 PC 20420 = INCORRECT CC BITS.
785 T53 == TST, CLR, AND MOV
791 PC sodg = INCORRECT CC BITS.
79 PC 20456 = INCORRECT CC BITS.
799 PC 20476 = INCORRECT CC BITS.
802 PC 20506 = INCORRECT CC BITS.
804 1S4 == CMP AND BIS
811 PC 20542 INCORRECT CC BITS.
814 PC 20552 = CMP OR BIS INSTRUCTION FAILED.
817 564 = NO AUTO INCREMENT.
76 = INCORRECT CC BITS.
10 = INCORRECT CC BITS.

INCORRECT CC BITS.,

CMP OR BIS INSTUCTIONS FAILED IN MODES OTHER THAN 0.
MODE 5 IS FAILING.

CMP OR BIS INSTRUCTIONS FAILED.
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840 20

847 PC 20

850 T55 == BIC AND BIT

861 PC 21004 = INCORRECT CC BITS.

864 PC 21014 = BIC OR BIT INSTRUCTION FAILED.

867 PC 21026 = INCORRECT CC BITS.

B;g PC 21040 = BIT OR BIS INSTRUCTION FAILED.

8 PC IO?g = INCORRECT CC BITS.

878 PC 21072 = RO WRONG.

883 PC 1108 = INCORRECT CC BITS.
PC 21120 = INCORRECT CC BITS.

89 PC 21146 = BIC FAILED IN MODE 6.
PC 21170 = INCORRECT CC BITS.

gi PC 21202 = STACK POINTER FOULED UP.

T56 == INC_AND DEC

Mm PC 21 = INCORRECT CC BITS.

918 PC 21 = INCORRECT CC BITS.

N PC 21 = INCORRECT CC BITS.

9 PC 21 = INCORRECT CC BITS.

9 PC 21 = INC INSTRUCTION FAILED.
PC 21 = INCORRECT CC BITS.

9 PC 21 = INCORRECT CC BITS.

9 PC 21 = INCORRECT CC BITS.

9 PC 21352 = INCORRECT CC BITS.

91 157 == ? AND NEG

9%7 PC ‘?i = INCORRECT CC BITS.

950 PC 21414 = COM INSTRUCTION FAILED.

954 PC 122 = INCORRECT CC BITS.

957 PC 21 = COM INSTRUCTION FAILED.

% PC 21 = INCORRECT CC BITS.

9 PC 21 = INCORRECT CC BITS.

974 PC 21 = NEG INSTRUCTION FAILED.

978 PC 21 = INCORRECT CC BITS.
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FAILED.

NCORRECT CC BITS.

WAB INSTRUCTION FAILED.
NCORRECT CC BITS.

WAB FAILED..

NCORRECT CC BITS.

NCORRECT CC BITS.
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C
- 14:03
- - RIFICATION TESTS (FIELD VERSION). MACY11 30G6(1063) 17-MAR-82 15
E&&.P"‘"’ }}M"AL’S?‘%‘XSZI " TABLE OF CONTENTS SEQ 00

RECT CC BITS.
:E }ot : 3go?ngmucnou FAILED IN MODE 5.
4 PC } = ‘t‘ggo?ﬁsfgbcc BITS.
= e
: kS8 L ol
= B
2 R SR e AL
= o
228 :E 8(‘) = SUB INSTRUCTION FAILED.
: R S jEoueT G e
= -
;8 :E gg = SUB INSTRUCTION FAILED.
86 PC = SOB INSTRUCTION FAILED.
o kSt T imomil o
= @
% :g 22 = SOB INSTRUCTION FAILED.
1 s PC HTP‘ = S$P§AILED.
3 "R SN et
= L4
3}’6 :E $°§§ = MTPS OR MFPS INSTRUCTION FAILED.
B R S ke ¢ AT
= L4
2328 :g 562 = MFPS INSTRUCTION FAILED IN MODE 6.
Sgi‘l 166 == "5 INSTRUCTIONS AFFECTING FULL WORDS
337 PC = INCORRECT CC BITS.
340 PC 16 = SIGN WAS NOT EXTENDED IN RO.
345 PC = INCORRECT CC BITS.
348 PC 6 = SIGN WAS NOT EXTENDED IN RO..
%355 PC 23700 = R6 DID NOT GET INCREMENTED.
359 PC §7?g = BYTE INSTRUCTION IS FAILING WITH R6.
363 PC 7;4 = R6 WAS NOT DECREMENTED.
369 PC 23750 = INCORRECT CC BITS.
2372 PC 23764 = TEMP FOULED UP,
2377 PC 24004 = INCORRECT CC BITS.
2380 PC 24020 = TEMP FOULED UP.
2384
ot AND INTERRUPTS.
B IO ST e, st fowrer a0
' L
223? :E 4102 = R6 DID NOT AUTO DECREMENT BY ¢.
24 PC 24120 = WRONG AUTO INCREMENT OF R6.
241 PC 24140 = WRONG INCREMENT OF R6.
241 PC 41; = WRONG INCREMENT OF R1.
s R SiL2 © NS AN &
= L4
2%; 170 EE TE ; BYTEJWERSF%S'I&G Sgegé POINTER (R6)
P = ms . 0
242 Pg ‘i& = FALSE R6 .BYTE TRANSFER.
% Sii T i B gl ey
D LOW OF 6 TO HIGH OF 1.
{74 m E% ré’gr Bﬁ%:é%‘hﬁ;u ON SEQUENTIAL®0DD/EVEN ADDRESSES
& = SAME .
TO LOW IN SAME WORD FAILS.
y pe 22 - H}GGH TO LOW IN DIFFERENT WORDS FAILS.
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CNKXAA P11 17=MAR- TABLE OF CONTENTS SEQ 0016

w
~
R

= STACK POINTER INCORRECT.
5446 = INCORRECT PC SAVED ON STACK.
5462 = INCORRECT PSW SAVED ON S
T77 == TEST THAT ‘POWER=FAIL'' TRAPS TO 24 (REOUIRES Q@-BUS EXERCISER)
PC 25556 = POWER=FAIL DID NOT TRAP.
PC 25574 = PSW INCORRECT AFTER PWR-FAIL TRAP TO 24.
5 = STACK POINTER INCORRECT.
PC = INCORRECT PC SAVED ON STACK.
= INCORRECT PS?"SSAVED % STACK.

o
2

489 PC 24566 = EVEN TO EVEN FAILED.

49 PC 24602 = ODD TO ODD FAILED.

49 PC 24616 = LOW TO HIGH IN SAME WORD /AILED.

498 PC 24632 = HIGH TO HIGH IN SAME WOR) FAILED.

501 PC 24646 = EVEN TO ODD FAILED. . i
504 T72 == TEST THAT BUS TIME-OUT rms TO THE 'RESTART'* ADDRESS
515 PC 24704 = BUS TIME-OUT DIDN'T TRAP AT ALL

321 PE 34706 = STACKED PC_INCORRECT ON TINECOUT TRAP.
525 PC 24736 = STACKED PSW INCORRECT ON TIME-OUT TRAP.
529 173 == TEST THAT AN "ILLEGAL'' INSTRUCTION TRAPS TO 4
546 PC 25022 = ILLEGAL JMP/JSR DIDN'T TRAP

551 PC 25034 = PSW INCORRECT AFTER ILLEGAL INSTR TRAP TO &.
554 PC 25046 = STACK POINTER INCORRECT.
2559 PC 23066 = INCORRECT PC SAVED ON STACK.

562 PC 25102 = INCORRECT PSW SAVED ON STACK.
2568 T2 ~= TEST THAT A RESERVED (UNDEFINED) INSTRUCTION TRAPS TO 10
2575 PC 25154 = RESERVED OPCODE DIDN'T TRAP
2580 PC 25166 = NEW PSW_INCORRECT AFTER TRAP TO 10.
583 PC 25200 = STACK POINTER INCORRECT.
2386 PC 25212 = INCORRECT PC SAVED ON STACK.

589 PC 25226 = JACORRECT PSW SAVED ON_STACK.

593 175 ~ TEST THAT A BPT. INSTRUCTION “RAPS 70 14
5300 PC 25272 = BPT DIDN'T TRAP.
2605 PC 25304 = PSW_INCORRECT AFTER BPT TRAP TO 14.
2608 PC 25316 = STACK POINTER INCORRECT.
2611 PC 25330 = INCORRECT PC SAVED ON STACK.
2614 PC 25344 = INCORRECT PSW SAVED ON STACK.

18 176 == TEST THAT AN “iOT INSTRUCTION TRAPS 10 20

5 PC 25410 = 10T DID NOT TRAP
3 PC 25422 = PSW_INCORRECT AFTER IOT TRAP TO 20.
T

BINEE

%667 T100 T THAT AN "EMT'’ INSTRUCTI YRAPS 10_30
706 PC 5 = PSW INCWECT AFTER EMT TRAP TO 30.
2709 = STACK POINTER INCORRECT.

712 PC 7“ = INCORRECT PC SAVED ON STACK

71 5760 = INCORRE WPSU SAVED ON STACK.

718 T101 T THAT A 'T INSTRUCTION TRAPS TO 34

736 = PSW INCORRECT AFTER TRAP TO

739 605 = STACK POINTER INCORRECT.

74 = INCORRECT PC SAVED ON STACK.

74 t INCWEF? PSW SAVED ON STACK.

748 "02 - TSST ‘ BIT CAUSES A TRACE TRAP

760 PC ‘2 @ CE 817 DID NOT TRAP.

765 PC 26154 = NEW PSU INCWECV AFTER TRACE TRAP TO 14.
;98 PC ‘l = TRACE TRAP HAPPENED AT WRONG TIME.

1 PC = T BIT WASN'T SAVED IN STACKED PSW.
781 PC = TRACE TRAP DIDN'T HAPPEN,
786 PC = NEW PSW INCORRECT AFTER TRACE TRAP TO 14.




CNKXAA == KXT=11 (FAL _S?l) VSR!FICATIGI TESTS (FIELD VERSION). MACY11 306(1063) 17-MAR-82 14:03
CNKXAA.P11 17-MAR TABLE OF CONTENTS SEQ 0017
789 PC Sgg;g = RTT MDN'T ALLW NEXT INSTRUCTIM TO EXECUTE.
79 = T BIT WASN'T SAVED IN STACKED PSW.
79 T103 i | THAT TRACE TRAP ON A TRAP IS INHIBITED
807 C s = NEITHER TRAP OCCURRED 272,
12 ) = TRACE TRAP ON TRAP WASN'T INHIBITED.
16 T‘IOG == TEST THAT RESET MAS NO EFFECT ON A TRACE TRAP
7 26442 = BUS-RESET DISABLED OR INMIBITED TRACE TRAP.
"05 == TEST THAT ODD ADDRESS TRAPS ARE NOT IMPLEMENTED
PC 26 = JUMP TO AN ODD ADDRESS DID NOTHING.
514 = JWP _TO AN ODD ADDRESS TIMED WT.
T‘IO6 - YEST THE CPU_TYPE INSTRUCTION (MFPT)
PC 26 % = CC BITS CHANGED ON MFPT INSTRUCTION.
PC 65 = RETURNED VALUE INSMRECT ON MFPT.
= MFPT TRAPPED TO 1

T107 - T ST EXTERNAL Q-8US INTERRUPT (REQUIRES Q-BUS EXERCISER)
Q-8US INTEWTS AT WRONG LEVEL.
INTERRUPT NOT RECEIVED.
T11O o= T 'I'HE BEVNT'' INTERRUPT (REQUIRES Q-BUS EXERCISER)
% = BEVNT INTERRUPT LEVEL INCORRECT.
PC 7030 = BEVNT INTERRUPT NOT RECEIVED.

SECTION 3 == LOCAL_2K RAM TESTS.
111 - sOCAL 2K RAM ADDRESS TEST
142 = RAM DATA INCORRECT AT ADDRESS IN RO.
PC 7176 = RAM DATA (SWAPPED) INCORRECT AT ADDRESS IN RO.
C 27206 = BUS TIME-OUT -- RAM ADDRESS IN RO.
7112 s s ; AL 2K RAM DATA TEST
C 27272 = INITIAL BACKGROUND INCORRECT AT ADDRESS IN RO.
PC 7330 = FLOATING DATA INCORRECT AT ADDRESS IN RO.
PC 7 = BACKGROUND CHANGED AT ADDRESS IN RO.
7376 = BUS TIME-OUT ~= RAM ADDRESS IN RO.
T113 o= ? ONAL DMA TEST (REQUIRES Q-NS EXERCISER)
= NXM ERROR IN QBX ON DATI (MEM TO QBX).
75; = DATA INCMRECT IN QBX ON DATI (MEM TO QB8X).
RROR IN QBX ON DATO (QBX TO MEM).
PC %761 = DATA INCORRECT IN TEMP2 ON DATO (UX 70 MEM).
7624 = BUS TIME-OUT == QBX (R4) OR RAM (R1).

SECT{_?‘ 4 == LOCAL FRWRAH TESTS (EMPTY SOCKETS).

3952]. RAM ADDRESS TEST
WRITE TO ROM ALTERED DATA 222?72,
577“ = BUS TIME-OUT == ROM ADDRESS IN RO.

ERIAL LINES 1 AND 2 TESTS.
LINE REGISTER ADDRESSES
ME-OUT ON SL DR

wn
-0
|
ot
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*iigg

CLEARS THE RiGHT BITS
DN'T CLEAR RCV-IE BIT IN RCSR.
CLEAR XIE. MAINT, AND/OR™XBRK.
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ET IN RCVR DATA BUFFER.
ET IN XMTR STATUS.
sT IN XMTR DATA BUFFER.

INT 8] E
= XMIT-MAINT BIT FAILE

nzs e resr THAT " XMIT-PBRE" CAN BE
= XMIT-PBRE BIT D

1014 = XAL]-PBRE BIT FAILED

nz& =="TEST THAT "XMIT-PBRO"* CAN BE
= XMIT 3IT D
I B D
-PBR gE

N =4V~
m

LEAR.

ET_AND CLEARED
SET.

CLEAR.

ETE?M CLEARED
CLEAR.

AND CLEARED

—
B
~N
w
w'w w
g b b
-
w
-
Suxs
3
-

FagTaS

—LE RE-1 ﬂgl N=4h =N
—
e T e

i

Exox
.h'h.

3

=

”moo

53
i.,§é§ 44

uua‘.
QRAN
B
s B ]
V-0
w

I
-]

T=-RDY** CAN BE SET AND CLEARED
=RDY FAILED TO SET.
=RDY BIT FAILED TO CLEAR.
=RDY FAILED TO SET .AFTER KH}TTING CHARACTER.
WE CAN INTERRUPT ON °'‘XMT=-RD
XMT=RDY INTEWT AT WRONG I.EVEL (TOO HIGH).
XMT=-RDY INTERRUPT NOT RECEIVED AT CPU LEVEL 0.
PC XMT INTERRUPT ACK FAILED TO REMOVE THE REQUEST.
T132 ==_T T EACH XMIT BAUD RATE SETS A DIFFERENT SPEED
PC 31 XMT=-RDY NEVER SET AT PBR IN RO.

PC = SPEED DIFFERENTIAL ERROR.

RECEIVERS
T133 == TEST THAT "RCV-IE'' CAN BE SET AND CLEARED
PC 32052 = RCY-IE BIT FAILED 10 SET.
064 = RCV-IE BIT FAILED TO CLEAR,
134 = TEST THAT "RCY-ACT" AND "RCV-DONE™ CAN SET AND CLEAR
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1
PC 31
1

SLS¥
?N ne

~m

PC = RCV-ACT AND/OR RCV-DUN ARE SET IN ERROR.
PC = RCV-ACT FAILED TO SET.
PC = RCV=DUN SET WHEN RCV-ACT WAS SET.
PC = RCV-ACT SET BUT FAILED TO CLEAR.
PC = RCV=DUN FAILED TO SET WHEN RCV-ACT CLEARED.
PC 2 = RCY=DUN wup T0 cmp AFTER READING DATA.
T135 == risr THE ‘RCV-BRK'’, 'RCV-ERR'’, AND ‘‘FR-ERR'' BITS
PC 32410 = NO RCV-DUN imn XMIT WITH XMT-BRK SET.
PC 32440 = HALT INTERRUPT NOT RECEIVED AT CPU LEVEL 6.
PC 32470 = DOUBLE HALT TRAP RECEIVED.

17-MAR-82 14:03

SEQ 0018
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CNKXAA == KXT=11 (FALCON) VERIFICATION TESTS (FIELD VERSION). MACY11 30G(1063) 17-MAR-82 14:03
CNKXAA.PI1 17-MAR TABLE OF CONTENTS SEQ 0019
PC 32500 = WALT TRAP INTERRUPT NOT MASKED BY CPU LEVEL 7.
1 PC = RCV-BRK BIT DIDN
1 PC = RCV-ERR AND/OR_FR-EAR BITS DION'T SET.
18 PC 30550 = REC

EIVED DATA NON-ZERO ON BRK .
PC 32624 = RCV-ERR, FROEAR, AND/OR BRK BRK BITS DIDN'T CLEAR.
3 PC = DATA mtoan;cr AFTER 'BRK'* SEQUENCE.

T136 == TEST THAT "RCV-ERR TOR-ERR BITS SET AND CLEAR
54 PC 32736 = RCV-ERR AND/OR OR=ERR NOT SETON_FORCED OVER-RUN.
PC_ 32770 = RCV-ERR AND/OR OR-ERR BJTS FAILED TO CLEAR.

;‘gss nsr-rsrmruecmm ERRUPT ON 'RCV
79 = RCV=DUN INTERRUPT AT WRONG LEVEL (TOO HIGH).
3685 PC § = RCV=DUN INTERRUPT NOT RECEIVED AT.
3698 46 = msmt ACK FA}LED T0 REMOVE THE REQUEST.
704 mo - '59‘ AND O THRU THE 'MAINT'® DATA LOOP (INTERNAL)
8 4 = acvo DATA xncomsu MAINT DATA PATH FAILURE.
732 nu - 1 AND 0 THRU THE LOOP-BACK (EXTERNAL, SLUZ2 ONLY)
750 gﬁ NO RCV=DUN == ls LOOP CONNECTOR INSTALLED 277.
3;% PC 42 = acvo DATA INCORRECT, EXTERNAL DATA PATH FAILURE.
3776 SECTION 7 == PARALLEL 1/0 PORT (8255) TESTS.
3795 T142 == TEST PIO REGISTER ADDRESSES
3820 PC 33634 = BUS TIME-OUT ON PIO ADDRESS.
3822 PC & = UNEXPECTED PORT a INTERRUPT.
3824 S4& = UNEXPECTED PORT A INTERRUPT.
3827 ms - r;sr THAT RESET INVOKES MODE O AND CLEARS THE CHIP
ggo PC 33714 = PORT A RESET STATE INCORRECT.
3 T144 == TEST MODE 1 1/0 THRU THE LOOP CONNECTOR (FLAG MODE)
3853 PC 33772 = PORT C MODE 1 STATUS INCORRECT.
356; PC 34026 = OUTRDY STILL SET AFTER OUTPUT XFER.
PC 34044 = STATUS INCORRECT AFTER OUTPUT XFER.
7:; PC 34066 = STATUS INCORRECT AFTER INPUT XFER.
7 PC 34076 = DATA INCORRECT AFTER OUT/IN EXCHANGE.
79 T145 == TEST THE PORT B (OUTPUT) INTERRUPT
PC 34142 = PORT B INTERRUPT LEVEL INCORRECT.
; PC 34160 = STATUS INCORRECT WITH PORT B INTERRUPT PENDING.
289 PC 34176 = PORT B INTERRUPT NOT RECEIVES.
3906 PC gzc = DOUBLE PORT B INTERRUPT,
15 PC 34262 = PORT B INT REQUEST DIDN'T CLEAR AFTER WRITE.
923 T146 -- TEST THE PORT A (INPUT) INTERRUPT
30 = STATUS INCORRECT.
939 PC 34374 = PORT A INTERRUPT LEVEL mcomcr
PC 34412 = STATUS INCORRECT WITH PORT A INTERRUPT PENDING.
9 PC 34430 = PORT A INTERRUPT NOT RECEIVED.
PC = DOUBLE PORT A INTERRUPT,
PC 34512 = PORT A INT usouesr mu'r u.m AFTER READ.
71 T147 == TEST THAT B PRIORITY IS HIGHER T
PC 34614 = NEITHER ONE INTERRUPTED == um THE HELI. ",
989 PC % = A INTERRUPTED BEFORE B == BAD NEWS !
3%% PC 34650 = A INT NOT RECEIVED AFTER B INT.
4010 END OF PASS ROUTINES.
4110 TRAP HANDLER
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MACY11 30G(1063) 17-MAR-82 14:03

.TITLE CNKXAA == KXT=11 (FALCON) VERIFICATION TESTS (FIELD VERSION).
: REV B == ;lx RAM ADDRESS TEST.

. IX SLU SPEED DIFFERENTIAL TEST.

B FIX P10 RESET TEST.

: PART 1 == TEST THE T11 INSTRUCTION SET.

s PART ; == TEST THE T11 TRAPS AND INTERRUPTS.

; PART 3 == TEST THE LOCAL 2K RAM MEMORY.

: PART & == TEST THE LOCAL ROM/RAM MZMORY (EMPTY SOCKETS).
; PART S == TEST SERIAL LINE UNIT 1 (DEC DC319 DLART).

: PART ? == TEST SERIAL LINE UNIT 2 ( DITTO ).

: PART 7 == TEST THE PARALLEL I1/0 INTERFACE (INTEL 8255).

.ABS
{uigr Hné.nc.cuo.toc
'ttttttt;ttttttttttttttt'ttttt.tttttttttttttttttttittttttttt.ttttl'tlttt
PRGSIZ= <*H<SLSTAD>>+1 : PROGRAM SIZE IN 1/8 K UNITS.

.SBTTL SWITCH REGISTER OPTIONS

SWR= 176 : THE STANDARD SOFT SWITCH REGISTER ADDRESS.
ggg{; 100000 HALT ON ¢

SWR<13> 020000 INHIBIT ERROR MESSAGES.

SWR<12> 010000 PRINT ERROR SUMMARY AT END-PASS.

SWR<1>

SWR<, 0>

§$§8’§ 001000 LOOP ON ERROR.

SWR<02:00> N RUN SEGMENT N (7 THRU 7) ONLY.

3333333233333 s e e e e e R R T a R AR R A A AR Rt d it il dddd)

NS= 0 : INIT TEST NUMBER SEQUENCE.
: T11 CPU EQUATES.

R6= SP

R?Z PC

ERRVEC= & : ILLEGAL INSTRUCTION VECTOR.
RESVEC= 10 : RESERVED OPCODE VECTOR.
BPTVEC= 14 : BREAKPOINT VECTOR...
TRTVEC= BPTVEC :...TRACE TRAP TO0O.

10TVEC= 20 : 10T VECTOR.

PURVEC= 24 : POWER FAIL VECTOR.
EMTVEC= : EMT VECTOR.

TRPVEC= : TRAP VECTOR.

PRI7= 0

PRI

PRIS=

PRI&=

PRI3=

PRI2= 1

PRI1=

PRIO=

RESRVD= 000010 ; RESERVED (UNDEFINED) OPCODE.

PAGE 1

SEQ 0020
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CNKXAA == KXT=11 (FALCON) VERIFICATION TESTS (FIELD VERSION). MACY11 306(1063) 17=MAR=-82 14:03 PAGE 1-1
CNKXAA.P11 17-ma-33" 14.:52 SWITCH REGISTER OPTIONS SEQ 0021

ag 7 MFPT= 000007 : MFPT OPCODE (NEW INSTRUCTION)...

8 KXT11= & :...SHOULD RETURN #4 IN RO.

84 4 CLNZ=  CLN'CLZ

85 000 SEVC=  SEVISEC

59 838 SENVC= 3snesevsssc

q NOP1= 260

88 000401 SKP1=  BR+1

89 00040 sw;: anoi

90 00040 SKP B8R+

91 1ouog CHECKCC= TRAP ; CC BIT CHECK CALL.

9; 10442 BEGINTEST= TRAP+20

9 104421 CHECKSWR= TRAP+21 : CHECK FOR <*G>.

9% 1044 g GETSWR= mms : GET NEW SWR.

32 1044 ERROR= TRAP+ : ERROR CALL.

3; "SBTTL KXT=11 (FALCON) DEFAULT CONFIGURATION

99 175000 START= ODT : ON POWER-UP, START MACRO-ODT IN PROM...

100 172004 RESTART= ODTRE :...TRAP TO "RESTART'' ON TIME-OUT OR HALT...

}01 EHALT= HALT S...AND HALT ON PROGRAM ERROR.

18§ 170000 ROMADR= 170000 : LOCAL ROM SOCKETS STRAPPED...

104 002000 ROMSIZ= 1024. :...TO RESPOND AT T0 31K...

105 : .. .MACRO-ODT PROM MUST BE INSTALLED.

106 172000 obT= 172000 :"IT STARTS HERE...

107 172004 ODTRE= 172004 :.-AND RESTARTS HERE.

108 170000 ODTBRK= 170000 :""BREAK'* HALT IS SERVICED MERE...

m 000140 ODTIN= BHALT :...AND THE VECTOR SERVES AS A HANDY FLAG.

11 160010 RAMADR= 160010 : LOCAL 2K RAM STRAPPED...

112 003764 RAMSIZ= 2048.-4.-8. :...T0 RESPOND AT 28K(+4) TO 30K...

13 S...1ST 4 WORDS ARE NON-EX SO THAT...

11% ‘.. CONVENTIONAL SIZERS WILL WORK RIGMT...

115 S...AND LAST 8 WORDS BELONG TO MACRO-ODT...

“9 167776 TRAP4= 167776 ...(THE LAST BEING THE TRAP4& EMULATE FLAG).

118 000100 BEVNT= 100 : "LINE CLOCK' (ON SLU2) VECTOR.

}g 000140 BHALT= 140 * *BREAK (ON SLU1) OR Q-BUS ‘BHALT*’ VECTOR.

121 177560 SLU1= 177560 : SLU (DLART) 1 (CONSOLE TTY)...

122 000060 SLUlv= 60 :...1ST VECTOR (OF 2)...

153 ogoggg SLUIP= PRI4 *...AND PRIORITY.

124 176 SLU2= 176540 : 'SLU (DLART) 2...

125 oong SLU2v= 120 t...1ST VECTOR (OF 2)...

}59 00024 SLU2P= PRIS s .. AND PRIORITY.

128 176222 PIOA= 176200 : PIO PORT A (INPUT)...

1;3 0001 PIOAV= 1 :...AND VECTOR.

1 1762% PIOB= 176202 :"PI0 PORT B (OUTPUT)...

13 0001 PIOBYV= 130 :...AND VECTOR.

1 ogo %40 PIOP= PRIS : " INTERRUPT PRIORITY (FOR BOTH).

13 1 PIOC= 176 8'& : PIO PORT C (PORT CONTROL)...

gg 17 PIOMC= 17 :...AND MODE CONTROL.

136 174020 QBXCSR= 174020 ; @-BUS EXERCISER CSR1 ADDRESS (OPTIONAL)...

137 000110 QBXVEC= 110 :...AND VECTOR (AT PRI4).
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CNKXAA.P11 17=MAR 16‘:'82 KXT=11 (FALCON) DEFAULT CONFIGURATION SEQ 0022

1 3

13 : NOW, EQUATE SOME GENERAL REGISTERS.

141 001000 ADR= 1000 ; INSTRUCTION TEST SCRATCH LOCATIONS.
142 1002 ADR1=  ADR+2

14 001004 ADR2=  ADR+4

164 001 TEMP=  ADR+6

145 00101 TEMP1= ADR+]

146 00101 TEMP2= ADR+1

14 001014 TENPS=  ADR+14

148 001016 K ADR+16

149 001020 Kl=  ADR+20

150 001022 K2=  ADR+J2

151 001024 K ADR+24

152 001026 Ké=  ADR+26

15 001030 KS=  ADR+30

154 001032 Ké=  ADR+32

135 001034 K7=  ADR+

13 001036 QBXA=  ADR+36 : @=BUS EXER CSR ADDRESS (IF INSTALLED).
159 001016 SPDO= KO : DLART, VARIABLE SPEED COUNTERS.

160 001020 sPD1=  Ki

161 001022 SPDe= K¢

162 001024 SPD

163 001026 SPD4=  Ké

164 0010 5= kS

165 001032 SPDé=  Ké

166 001034 SPD7= K7

167 001040 DFPBR= ADR+40 ; DEFAULT PBR BITS...

168 001042 DFSPD= ADR+42 :...AND THE CORRESPONDING SPEED COUNTER.
170 001044 RCSR=  ADR+44 ; DLART REGISTER POINTERS.

171 001046 RBUF=  ADR+46

172 001050 XCSR=  ADR+50

1 001052 XBUF=  ADR+52

174 001054 RVEC=  ADR+54

175 001056 XVEC=  ADR+56

177 001060 PPA=  ADR+60 ; PARALLEL 1/0 REGISTER POINTERS.

178 001062 PPB=  ADR+62

179 001064 PPC=  ADR+64

180 001066 PPCW=  ADR+

181 001070 PPAV=  ADR+

182 1072 PPBV=  ADR+7 -

184 : 3> REMAINDER OF 1ST K IS OUR STACK.
185 003776 STACK= 3776 7

187 : NOW THE ENTIRE 2ND K OF RAM IS USED AS AN "ERROR LOG'".

188 : ALL ERRORS ARE LOGGED AS THEY OCCUR.

190 004000 ERRCNT= 4000 ; THE 1ST WORD IS A TOTAL ERROR COUNT...
191 004002 TPASS= 400 S...THEN A “TOTAL'' PASS COUNT...

192 004 GPASS= 4004 :...AND A *‘CONSECUTIVE-GOOD'* PASS COUNT.
19 004006 EPCTBL= 4 ;"THE REST FORMS A TABLE OF 2 WORD ENTRIES...
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CNKXAA.P11 17-MAR-82 14:02 KXT=11 (FALCON) DEFAULT CONFIGURATION SEQ 0023
194 s+« SHOWING ERROR PC (WD1) AND THE R...
195 s+..0F OCCURRANCES OF THAT ERROR (WD2).
196 007776 LOGEND= 7776 : END OF ERROR LOG TABLE.
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CNKXAALP11 17-MAR-82-14:02 INITIAL START AND CLEAR VECTORS.
;33 .SBTTL INITIAL START AND CLEAR VECTORS.
* ON INITIAL START, WE'LL ATTEMPT TO INITIALIZE THE Q-BUS MEMORY

1 : VECTOR SPACE WITH A TRAP CATCHER IN THE TRADITIONAL STYLE.
205 * LOCATIONS O THRU 776 WILL BE COATED WITH:
204 : WORD .+2
2282 ; JWORD  EMALT
207 * WE HAVE TO PRESUME THAT THE T11 IS CAPABLE OF EXECUTING THE
208 * FEW BASIC FUNCTIONS REQUIRED TO SET THE TRAP CATCHERS.
g% : IF NOT == THEN HOW DID WE EVER GET STARTED IN THE FIRST PLACE ?2?
211 : IN THE_ENGINEERING mo nsw vsnsxous WE_HAVE A MACRO-0DT IN ROM
21% : WHICH PROVIDES 'BUS ME-OUT' 'HAI. * EMULATION.
21 : ON A RESTART TRAP LL nemu IN ODT IF THE STACKED PC POINTS
%}g P 70O A "HALT'' OPCODE. OTHERWISE, WE'LL VECTOR THRU LOC 4.
%}‘7’  *BHALT"' AND 'BREAK'* VECTOR THRU 140 TO THE ODT BREAK HANDLER.
218 010000 = 10000 : PROGRAM STARTS AT 2K.
219 010000 BEGIN
220 010000 000240 INIT:  NOP ; RESET 272
221 010002 013746 000030 MOV a#30,=(SP) : SAVE XXDP EMT vecron...
222 010006 013746 000040 MOV a#s0.-(SP) 2.2 LOAD DEV ID AND UNIT...
223 010012 013746 000042 MOV mz -(SP) 2e..AND CHAIN RETURN.
224 010016 012700 000002 MOV nb COAT THE ENTIRE VECTOR AREA..
225 010022 005001 CLR ....HITH A TRADITIONAL TRAP CATCHER
226 010024 012702 000200 MOV czoo R2
227 010030 010021 18: MOV RO, (R1)+ : .42
228 010032 012721 000000 MOV SEFALT. R+  : EHALT
253 010036 022020 CMP (ao» (RO)+
230 010040 077205 S08
231 010042 01%637 000042 MOV (sﬁu.mz : RESTORE CHAIN RETURN...
232 010046 012637 000040 MOV (SP)+.a#40 i+0+LOAD DEV...
233 010052 012637 000030 MOV (SP)+.a#30 :.o.AND EMT VECTOR.
2% 010056 012737 000137 000200 MoV #137,a#200 : SET A STANDARD "RESTART" ADDRESS.
55’2 010064 012737 010072 000202 MOV muh 202
237 : IF WE GOT THIS FAR WE'RE IN PRETTY GOOD SHAPE '.!.!
238 "SBTIL
523 .SBTTL RESTART

41 010072 o«gr 001000 INIT1: MOV #1000,R0 ; *2006'* RESTARTS HERE.

42 010076 0050 9 - 1s: CLR (RO) + ch ALL THE REST OF RAM UP TO...
522 3}3}& 020027 010000 8{‘5 ag.mecm :...THE PROGRAM START POINT.
545 o1o1o$ 0127 ogsm MOV #STACK,SP ; SET A STACK po;mea

46 010112 012737 1 000140 MOV mrga K,#BHALT : ENABLE 'BREAKS'' TO ODT...

47 010120 012737 000360 000149 MOV S#BHALT+2 ....mau VECTOR, 1 a0

48 o.o1§g 012737 000001 167776 MOV n.ainm. sm E ODT'S "‘TRAP 4'* EMULATOR.
49 0101 o1o13; PRINT .=2 «x+ DEBUG, 100000 *++

S0 010134 106427 000000 MTPS  #PRIO : AND LOWER THE CPU LEVEL.

PAGE 1-4

SEQ 0024
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CNKXAA.P11 17-MAR-

S
£33

54

55

56
257
258
259
260
261 010140 016746
262 010144 012767
263 010125 012767
264 0101 01270C
265 010164 402
266 010166 012700
267 010172 010067
268 010176 104000
269 010 000240
270 010202 000000
276 010204 012716
277 010210 000002
278 010212 000240
279 010214 000000
285 010216 105200
286 010220 1
287 010222 020027
288 010226 001407
289 010230 012767
290 010236 012767
%8; 010244 750
293 010246 012667
%3; 01025 015767

010260 012700

296 010264 104003
297 010266 104422
298 010270 016700
ggg 010274 001420
300 010276 010007
302 010300 005015
;gz 010336

167664
010204
36

162000

104400
000000

010216

Egﬂ%‘gsglFICATION T

167656
167654

ESTS (FIELD VERSION).

QUICK=VERIFY EMT AND TRAP.
.SBTTL QUICK=VERIFY EMT AND TRAP.

M e s 0000 % e

HTTRP

o 1$:

-

v

167572
167570

167554

040530

- 4$:

5%:

6$:

HELLO:
.SBTTL

ERROR HANDLI
OTHERWISE

UNKNOWN A
OF BOTH THE_TRAP HERE.
ADDITIONAL TESTING WILL BE ATTEMPTED IN SEGMENT 2.

HOV

.ASCI2
.EVEN

NOW TRAPS (104400) AND EMTS (104000) ARE USED sxrensxveu FOR
NG, AND TTY SERVICE. THE EMT HAS TO BE FUNCTIONAL
THE XXDP+ MONITOR WOULD HAVE CRASHED. TRAPS ARE

AT THIS P(A)'I‘NT. SO TO BE sm. WE'LL DO A QUICK VERIFY

D THE EMT OPCODES

EMTVEC.=(SP)  : SAVE nonnons EMT VECTOR.
#4S, EMTVEC : SET EMT

nnﬁv C+2, mpvec ,...mo neser TRAP VECTORS.
ggnn RO’ TEST EMT'S FIRST...
#TRAP+0,RO :...men TRAP'S.

R0,3$

; EXECUTE EMT/TRAP.
: DIDN'T WORK == BIG TROUBLE...
...(RO) HOLDS THE OFFENDER !!!

#5$,(SP) : EMT/TRAP SEEMS OK. TWEAK RETURN PC...
i.oAND TEST THE "RTI** T0O.

u-r-r 77

m DOESN'T WORK !!!
RO ue RE HERE IF EVERYTHING uoaxso...
2$ .BUMP THE OPCODE AND LOOP °‘TIL D
RO,#TRAP opcooe = TRAP 2?
6$’ * WE'RE DONE IF SO.

JEHTVEC*Z EMTVEC ; OTHERWISE, RESET EMT...
#4$,TRPVEC ;v..AND SET TRAP VECTORS...
1$ :...AND GO "ROUND ONCE.

(smo.emvec : DONE, RESTORE EMT FOR MONITOR CALLS...
gmb VEC :...AND SET=UP OUR OWN TRAP HANDLER.

: "'GREE

: GET INITIAL "SWITCH SETTING...
INSEG,RO : SINGLE SEGMENT SELECTED 2?
DOALL ....IF NOT, RUN ‘EM ALL...
RO.PC :...ELSE, GO THERE.

<15><12> ' NKXAAD KXT=11 DIAGNOSTIC'<15><12>

MACY11 306(1063) 17-MAR-82 14:03 PAGE 1-5
SEQ 0025




L)
N
N

s; %+« BRANCH FAILURE OR CC NOT 1000 »=»

s SET N...
J.esAND V, NZVC = 1010

2$:

;3 VBIT:
1

BPL
BEQ
B8GE
86T
8LOS
BLO
104423 010344 " ERROR.
SEN
EV
BvVC
BEQ
Bes

N 2
CNKXAA == KXT=11 (m.ggm vsmmnon TESTS (FIELD VERSION). MACY11 306(1063) 17-MAR-82 14:03 PAGE 2
CNKXAA.P11  17-MAR-82 14:02 SECTION 1 == T11 BASIC INSTRUCTION TESTS. SEQ 0026
.SBTTL SECTION 1 == T11 BASIC INSTRUCTION TESTS.
10336 DOALL:
09 10336 012767 036202 025634 S1: MO #SEG1,SEGN : SEGMENT 1 TEXT.
11 ;tttttttttttttttttttttttttttttttttttltttttttttttttt'tttttttttttttttttttt
(g) “SBTTL T1 == BRANCHES, FORWARD, BACKWARD, AND CONDITIONAL
( ) *HRRARARRAARNAANAAAANRREARAAAAAAAAAAAARAARAAAAAAAAAACAAEEANAAARAAAAAEAAS
(2) 010344 104420 000001 f1: BEGINTEST, 1 :: CHECK SWITCH REGISTER OPTIONS.
1; o1ogs 000405 CH: BR 5!
13 010352 00040 : BR $
1% 010 1044 810;«. ERROR, T1 :; %% FORWARD BRANCH FAILED #w+
15 010 0127 10374 48: MOV #58,PC
19 010364 000772 gs: BR 13
17 01C 000774 $: BR 4$
}g 3}3 20 104423 010344 - ERROR, T1 ;; %% BACKWARD BRANCH FAILED #w
10374 oogzsr NOBIT: CCC : ZERO CONDITION CODES, NZVC=0000
1 010376 103414 BCS * 18
; 1 82 10241 BVS 18
01 00141 BEQ 18
%, 0106406 100411 BM] 18 '
S 0104 zog NOP1 : CHECK NOP1 INSTRUCTION (OPCODE 260).
6 010410 10340 BCS 18
7 01041 102402 BVS 18
8 010414 00140 BEQ 18
010416 100404 BM] 18
0106420 002403 BLT 18
1 010422 003402 BLE 18
010426 101401 BLOS 18
3}& 101002 - BHI 28
%’s gm 104423 010344 a ERROR, T1 22 wxx BRANCH FAILURE OR CC NOT 0000 #w+
010434 00027 NBIT:  SEN : NBIT IS SET, NZVC=1000
%9 010636 1 9 18
01044 1% 18
9 01 18
0 01 18
1 01 1 18
; 1 1014 18
8 8 3
s (1
1
1
1
1
1
1
1
1
1
1
1
1

RN R RRERRRGE
NN N
-

-

“
zEEe

m-.

—b e e b b e b -
[ L XL X X 1 1 1 J =3

SRRURZS
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CNKXAA.P11 17-MAR 56 = BRANCH FAILURE OR CC NOT 1
;sr 01 003002 - BGT 28
i §}8 10 104423 010344 23' ERROR, T1 ;: #%* BRANCH FAILURE OR CC NOT 1010 wew
18 14 (BIT: SEN ser N...
I 1 SEV ..oo eee
10 SEC So..AND C, NZvC=1011
105 14 BEQ 1$
1 ; BPL 1$
S O 1 Bv( 1$
1 g 4 3 BLT 1$
1 BLE 1%
10534 101001 BHI 1$
9 }og‘ 2002 - BGE 28
% 31%55?.& 104423 010344 2" ERROR, T1 ;2 wae BRANCH FAILURE OR CC NOT 1011 #ae
;i §1§su I8IT:  SEN set N...
1 SEV deec¥oos
7% 01 §§§ SEC c
75 81055 SEZ SL..AND Z, NZVC = 1111,
10554 001007 BNE 1%
it jooms T
1036% 00360 |
19566 005003 I
1o§9§ 101001 BHI 1$
}32;‘ 001402 - BEQ 28
2 §1osn 104423 010344 . ERROR, T1 ;2 wx* BRANCH FAILURE OR CC NOT 1111 wee
S 010600 28:
t'itttt.ttt.tttt.ti...t."'.t.t..tt.ti.tl'ttttti!'tt..t.t.tt.*ittt'i.tt
2) "SBTTL T2 == SET AND CLEAR ALL CONDITION CODES
( ) tttt...tt.Q....QQ'.Q.'Q'.QQ'.....tii..t.tﬁ"ttt.t.ﬁ..t0.".'..0.Qtt..!t
(2) 010600 533‘;9 000002 2: BEGINTEST, 2 i: CHECK sugrcn REGISTER OPTIONS.
10604 2 ALLCC:  SCC S NZVC =
%os 106417 CHECKCC#+17 : CHECK ALL BITS SET.
10610 104423 010600 ERROR, T2 i: anw CC BITS WRONG AFTER SCC e
i 10614 57 cce ; N2VC = 0000
1061 gg cnecxcm
1 1 010600 _ERROR, T2 ;2 ans (C BITS WRONG AFTER CCC #we

01
408

1
1
1
1
1
1
1
1

-
0634

.t.I".ﬁ....tt'ttt..'t."Q...".t..tti'....ttt...'l."'tit.'.t'tt.."'i

SBTTL I3 == TEST REGISTER SELECTION
AR R AR ARG R AR R AR RN R AR R RN AR RARAAARNANAAAAAARARAAAANNANAAAAAANARRONY
t3: BEGINTEST, 3 :: CHECK SWITCH REGISTER OPTIONS.
REGS: MOV d.n? :“LOAD UP RO THRU Ré.
MOV 8 R
MoV 220 .R2
MoV #100.R3
MOV #400 R4
MOV #1000,RS
ADD R6, : RO ¢ #STACK...

PAGE 2-1

SEQ 0027
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CNKXAA.P11 17-MAR 16!82 Ti ~= TEST REGISTER SELECTION SEQ 0028

m 1w s ADD .s’ :ooo’ 1 RN

405 01 ADD Ré.R t...* 400...

‘% 1 ADD R .R :...’ 1 LR N ]

‘o 1 ADD l 'R :ono’ Z eee

‘ ‘ 7 Aoo g .R :o.o’ L]

Pt 1067 005523 CMP RO,#STACK+1525 :...SHOULD = THIS.

410 01 14 i BEQ 1 : BR IF OK,

411 010702 104423 010624 ERROR, T t; aat REGISTER SELECTION FAILURE #we
2}; 10706 1$:

‘1‘ :.tt'Qttltt'!ttttittt.tttttt'.ttittt't.t.tt.t.tt'i.!!tttt...ttttt.t't.tt
(g) "SBTTL T4 == JMP INSTRUCTION == MODE 1

( ) N llLt 111123223232 2222223232233323133 3333338333833 3333332230000 00224344%33)
2) 810703 104420 800984 e BEGINTEST, & :: CHECK SWITCH REGISTER OPTIONS.

415 010712 012 10726 JMP1: MOV #18.R0 :"TEST JUMP INSTRUCTION MODE 1

416 010716 00027 SCC

417 010720 00011 JNP (RO)

418 010722 104423 010706 ERROR, T4 :: wnx MODE 1 JUMP FAILED wes

419 010726 10441 18: CHECKCC+17

630 010 106423 0107 ERROR, T4 22 wxx CC BITS ALTERED ON JMP nae

421 010734 020027 010726 CMP RO, #1$

422 010740 oou.og BEQ 28 : CONTINUE IF RO IS OK

423 010742 104423 010706 ERROR, Té t: axt RO INCORRECT AFTER JUMP e+

25;. 010746 2s:

426 ;ttttttttttttttt.ttttt.!ttttt..ttttttttttttttttttttttttttttttttt..tttttt
) "SBTTL TS == JMP INSTRUCTION == MODES 2 AND 3

(2) CRAARANARAARAAARAARAAAACRARRANRARAARNRARAANARARAARAAARRRANAAANAAAAAAAAAACES
(2) 010746 104420 000005 fs: BEGINTEST, S :: CHECK SWITCH REGISTER OPTIONS.

427 010752 012700 010766 JMP2: MOV #1$.RO *"TEST JUMP INSTRUCTION MODE 2

428 010756 000277 SCC

429 010760 0001 JMP (RO)+

430 010762 104423 010746 ERROR, T5 ;3 w%% MODE 2 JUMP FAILED wee

431 010766 1046417 18: CHECKEC+17

432 010770 104423 010746 ERROR, TS ;2 wan CC BITS ALTERED AFTER JMP wwsw

433 010774 302002 010770 P RO, #1842 :"1S THERE AUTO INC.?

43% 011000 00140 BEC JMP3

gg 011002 104423 010746 ERROR, TS ;3 w%% MODE 2 FAILED ON JUMP wee

437 011006 012767 011036 167772 JMP3: MOV #3$, TEMP : TEST JUMP INSTRUCTION MODE 3

438 011014 012767 gaws 167766 MOV 248 TEMP+2 :

439 011022 0127 1006 MOV #TEMP,RO

40 0110 2 SCC

41 0110 a;no» :

42 011032 104423 01074 ERROR, T “; axx MODE 3 JUMP FAILED www

m }}8,,32 70 300003 000006 3$: 55 ggno).l.s :"1S THERE AUTO INC.?

445 1104.3 106423 010746 ERROR, TS ;2 wax MODE 3 JUMP FAILED wee

m 01105 4s:

“8 :ttlt'tl.ttlttttltttttt'ttttttt'ttQ.ittttttttlttttttttt..littt.t!.tttttt
<§> "SBTTL 76 == JMP INSTRUCTION == MODES & AND S

( ) 3 2333223222232 32223212312z232%t3323:¢831333333133 3333333333333 3333332232333333233;
(2) 011052 1044 800892 f6: BEGINTEST, 6 :: CHECK SWITCH REGISTER OPTIONS.

2453 ”o 8555 1 JMPG: MOV #3$.R0 S“TEST JUMP INSTRUCTION MODE &
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CNKXAA.P11

4S §118$g
454 11074
(g) 11074
4SS 11100
45? 11104
45 11106
458

459 01111
&0 01N
% o
% oM
&4 011140
(2) 011140
g oiiad
“‘?9 011153
468 011156
469

470

2)

22; 01115
i Gnies
lo;g 0111%
&74 01117
475 0ON
476 011
&77 011210
4&78 011214
&79

480 011220
481 811 /A
g o
484 811 34
s Giidio
¢ iised
488 011254
489 011
&90 011
a1 giier
63; 11302
494 1
5 qig
43

498

2)

(2)

(2) 011316

14
igt g 011052

104423 01105
e g
104458 111052

12767 01°140

1 709 001010

1 72 01144
(38

104423 011052

011052
001006

011052

-

gy
-
w
o

0
1
0
0

g.

104420 000010

167670
1676564

167504

MACY11 306(1063)

- 17-MAR-82 14:03
6 == JMP INSTRUCTION == MODES & AND 5

JMP =(R0)
ERROR, Tg 23 wex DIDN'T JUMP AT ALL wev
7y BR 4 : JUMP SHOULD LAND HERE
' ERROR,  T¢ :; we% MODE 4 JUMP FAILED, wwe
4(S: CMpP #3%-2,R0 : CHECK RO
B8cQ JMPS
ERROR, 22 wxx RO INCORRECT AFTER JUMP ###
JMPS : MOV #3$,TEMP1 : TEST JUMP INSTRIICTION MODE S
MOV #TEMP1 RO
MOV #4S , TEMP1=2 H
JMP a=(R0)
3 ERROR, T6 33 wxx MODE 5 JUMP DIDN'T wee
k ERROR, T6 22 wvn AUTO=DECR FAILED ON MODE S JUMP w##
4(S: SE"; g;EPI-Z.RO : CHECK RO
<y ERYOR, Té :2 wxx RO INCORRECT AFTER JMPS wee

:t.ﬁ.tﬁt.tttt't"t.tt."'t"'it.t..tt..t..tt.ttt.....'....'.i.t..".'itt

.SBTTL T7 == JMP INSTRUCTION == MODES 6 AND 7

AR RANRAARAARAAAAANRAARRNRRARRRRARAAAAARAAAARAAAAAAAAAAAACAACACANOAOCSS

t7: BEGINTEST, 7 :: CHECK SWITCH REGISTER OPTIONS.
JMP6: MOV cis;g R3
JMP (R3S
ERROR, T ;3 wnt MODE 6 JUMP FAILED we+
18: 5?5 g.nsoe " CHECK R3
ERROR, 17 ;3 %% R3 WRONG AFTER JMP6 wew
2s: JMP 38-.=4(PC) " TEST JUMP INSTRUCTION MODE 6
ERROR, 17 t: sax JUMP FAILED wee
3%: MOV 2JMP7 R3 : JUMP SHOULD LAND HERE
JMP 0(R3)
ERROR, 17 22 wnr JUMP FAILED weae
JMP?: MOV #TEMP,R3
MOV s, (R3)
JMP 3RS
ERROR, T17 :3 enn MODE 7 JUMP FAILED wee
18: MOV #38, (R3) *“TEST JUMP INSTRUCTION MODE 7
MOV STEMP=4 RO
JMP 84 (RO)
ERROR, T7 :: wan JUMP FAILED #ae
3s: MOV 248, TEMP +“ CONTINUE
MOV JTEMP RO
JNP ag(noi
2 ERROR, T ;3 sex MODE 7 JUMP FAILED. wwe

:.ltt..l't..t..t'.iltttl..*".t...i..ttiti.it..t..Qt.t...'....i.'.'.."'

.SBTTL T10 == JSk AND RTS INSTRUCTIONS

CRRRRRRARRARAARARAAANRANCERRRARARARAARRAARAAAAARAAAAAAANAERAAAACARAACCERONS

710:  REGINTEST, 10 :: CHECK SWITCH REGISTER OPTIONS.

PAGE 2-3
SEQ 0029




E 3
CNKXAA == KXT=11 (FALCON) VERIFICATION TESTS (FIELD VERSION). MACY11 30G(1063) 17-MAR=-82 14:03 PAGE 2-4
CNKXAA.P11 17-m-53" 14.:82 T10 == JSR AND RTS INSTRUCTIONS SEQ 0030

499 811 855709 003776 JSRTST: MOV #STACK, SP : SET UP STACK POINTER.
500 011 ;7 SCC
5533 8“ 004767 000004 - JSR PC,28
%) 311 18222; 011316 ERROR, T10 ;3 wa% JSR INSTRUCTION FAILED tee

3 0N g 10441 28: CHECKC:#17
§04 011 104423 331 16 ERROR, T10 ;3 wa% CC BITS CHANGED ON JSR e
505 011 27 3774 48: CMP ciucx-z.sr
506 01135 140 BEQ 5 : BR IF STACK IS RIGHT.
507 011354 10442 gn 16 ERROR, T10 i; wex STACK WRONG AFTER JSR #we
508 011 022716 011334 58: CMP #18,(SP)
509 8" u.gg BEQ 6 : BR IF STACKED PC IS RIGHT.
g}(‘) n 104423 011316 ERROR, T10 “: aat SP DID NOT HAVE CORRECT RETURN ADDRESS we+
515 011372 012716 011404 68: MOV #78,(SP) : CHANGE RETURN PC.
513 011376 207 RTS PC
§14 011400 104423 011316 ERROR, T10 ;: wa% RTS INSTRUCTION FAILED w#e
515 011406 022706 003776 78: CMF #STACK, SP
519 011410 oouog BEQ 83 : BR IF STACK PROPER.Y RESTORED.
517 011412 104423 011316 ERROR, T10 t; wax SP WAS NOT RESTORED BY RTS INSTRUCTION #e+
518 011416 8s:
19 :
520 "SBTTL
%1 "SBTTL DESTINATION MODE 0
52% :-ttt.tﬁtttttttttttttttt't'!ttt.t'.ttt"..tt.t.ttﬁttt*ttt'tttt.titttttitt
() "SBTTL 711 == TSTB, CLRB, AND MOVB
(2) X313 232333322223323¢8:22322%2333233313312233 1333313323823 333 0332023334333 3340423%4%;]
(2) 011416 104420 000011 T11:  BEGINTEST, 11 ;3 CHECK SWITCH REGISTER OPTIONS.
524 011422 012706 003776 TSTBO: MOV #STACK, SP :"INIT THE STACK.
525 011426 0002 SCC
526 011430 105000 CLRB RO : CLEAR THE REGISTER
527 011432 104404 CHECKCC+4 : CHECK FOR CC = &
528 011434 104423 011416 ERAOR, T11 :; wes CLRB FAILED #e+
sgg 011440 105700 TST8 = RO s CHECK IT
530 011442 104404 CHECKCC+4 : CHECK FOR CC = &
531 gmu. 104.%3 01141 ERROR, T11 t; wae TSTB FAILED, #we
ssg 11450 112701 00037 MOVB = #377.R1 :“LOAD THE REGISTER
533 011454 104412 CHECKCC+1 * CHECK FOR CC = 10
53 0114 106% 011416 ERROR, T11 ;2 wex INCORRECT CC BITS wwe
535 011 105701 IST8 =~ Rl s CHECK IT
539 811464 1&:1? CHECKCC+10 : CHECK FOR CC = 10
sga 11466 106423 011416 ERROR, T11 :; wax INCORRECT CC BITS wew
239 :ttttttItt'ﬁltl'tttttt'tttttﬁttt.t.t.ttttt.!!t'..l!t.ttlttttlt.'ttittttt
(g) "SBTTL T12 == CMPB AND BISB
( ) X323 231132223132%113212z2sztz2z2z:2ztts222:123233333:12:3333 3433338383333 33333333334%]
(2) mrg 104420 000012 T12:  BEGINTEST, 12 :: CHECK SWITCH REGISTER OPTIONS.

0 01147 ogo;o CMPB0: SCC

1 011500 152 000377 BIS8  #377.R2 : LOAD REGISTER
28 011306 10638 01147 R '  CHECK NCORRECT CL BITS ves
544 112?3 1 275 80037; "8 cs;mz " CHECK COMPARE
7 “%8 1 '2 1147 g‘m“ ﬁ - C?-‘P%I&“m INSTRUCTION FAILED

e ce TS

5529 11526 1127 80007; 28: MOVB = #77.RO
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CNKXAA == KXT=11 (FALCON) VERIFICATION TESTS (FIELD ON). MACY11 306(1063) 17-MAR-82 14:03 PAGE 2-5
CNKXAA. P11 17-MAR- vs cNn 2 BISO OR CMPB INSTRUCTION FAILED. SEQ 0031

n; 1 cMP8 ng R2 : CHECK IT AGAIN
9 0N 1 BPL co'mnue IF 0K
S0 011534 1 011472 ERROR, T12 ; wee CMPE INSTRUCTION FAILED (WRONG CC) #we
2 fed 3 W @ ge R,
gsi 1 1 ; ERROR, ; P; wwe CMPB INSTRUCTION FAILED (WRONG CC) wee
5 011550 11 gr 48: MOVB :g 7.R 3 ‘LOAD REGISTER, SIGN EXTEND
e 9 QTR R BT
§57 311558 1044 300 7; ERROR, ; : ane BECAME CMP INSTRUCTION wee
€58 01 1 37 5$: MOVB cs <ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>